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Q I (A) Read the following passage and answer the questions given below: 

     10 

 The author of this wonderful adventure is Lucy Hawking. The story of the 
novel is imaginary but it also includes plenty of charts, photographs, boxes that 
give you hard facts about our solar system, galaxies, space and the whole 

universe. This information has been presented in a very simple, easy to 
understand manner by none other than Stephen Hawking, who is said to be one 

of the greatest scientists of our times. His achievements are all the more 
astounding as he is a victim of many physical ailments. He has to use a 
wheelchair to move about and uses a computerised voice system in order to 

‘speak’. The story of Stephen Hawking’s triumph over his physical disabilities is 
itself an inspiring adventure. 
 The book includes very attractive and expressive sketches drawn by Garry 

Parsons.  
 It is true that the excessive use of science and technology can give rise to 

certain problems. But turning away from technology is not the solution. That is 
why the Hawkings have given an important message in this book – More 
research, more studies and a commitment to use them not for selfish gains but 

for the welfare of the entire living world!      
 

Questions: 

1) Who is the author of this wonderful adventure?                   

(1) 

2) Write the singular form of the given nouns:     

      (1) 

i) galaxies  ii) charts 

3) Who has illustrated the book ?                     

(1) 

4) Use the following phrase in your own sentence.     

      (1) 

 i) plenty of  

5) Write an agent noun from the passage.       

      (1) 

6)Write the past tense form of the given verbs :                                          (1)

                                            



 

a) speak b) give 

7)Give the comparative and superlative degrees for the given adjectives:   (2)                        

a) attractive  ii) easy 

8) What is the message given in the book?                                            (2) 

                                                      

Q. I (B) Read the following passage and answer the questions given 

below:                                                                                  (10) 
 

 Helen was born in 1880 in a small town in the southern U.S.A. At 
18 months, when she was beginning to talk, she suddenly become terribly 

ill and very nearly died. When she recovered she was completely deaf and 
blind.  
 It is very difficult for a deaf child to learn to talk . Most babies learn 

by hearing other people talking. But the deaf child cannot hear anyone so 
how can she know what talking sounds like? Many deaf people learn to 

lip-read, and they become very clever at understanding what other people 
are saying by watching them. But Helen could not see what other people 
were doing. She remembered a few words she had known before she was 

ill, for instance, she went on calling water ‘ waa – waa ’. But she had to 
make signs for most things. She would shake her head for ‘ No’, and nod 

for ‘ Yes ’.  
 
 

Questions: 

1) When and where was Helen born?                    

(1) 

2) Write the adverb form of the given words:                                        (1)                                                              

  

i) clever  ii) blind        

3) Write the ‘-ing’  form of the verbs given:                                           (1) 

                                           

i) learn  ii) recover 

4) Find the synonym for the given word from the passage:   

      (1) 
      i) hearing-impaired 
5) What happened when Helen was 18months old?                              (2)                                      

        

6) Identify the kinds of sentence:                                                     (2) 

                                                               

a) Most babies learn by hearing other people talking. 

b) How can she know what talking sounds like? 

7) Why is it difficult for a deaf child to learn to talk?                            (2) 

                                   



 

Q.II (A) Read the following extract carefully and answer the questions 

given below:                                                                                        (10) 
 

 A lighthouse is a tower, building or other type of structure designed to emit 

light from a system of lamps and lenses. It is used as a navigational aid for 
maritime pilots at sea or on inland waterways. Lighthouses mark dangerous 

coastlines, hazardous shoals, reefs, safe entries to harbours. It also provides 
assistance in aerial navigation. 
 The first lighthouse was Egypt’s Pharos of Alexandria , built in the third 

century B.C. The lighthouse of Alexandria was made from a fire on a platform to 
signal the port entrance. The United States is home to more lighthouses than 

any other country. The world’s oldest existing lighthouse, is considered to be 
Tower of Hercules, a UNESCO world Heritage Site that makes the entrance of  
Spain’s La Coruna harbour. The lighthouse, which was erected in the first 

century, is still operational.   
 Once widely used, the number of operational lighthouses has declined due 
to the expense of maintenance and use of electronic navigational systems.  
 

Questions: 

1) What is a lighthouse ?              

 (1) 

2) What is a lighthouse used as ?                                      

                                                                                          (1) 

3) Write the antonyms of :            (1) 

i) use   

4) Write the homophones for the given words :                   

                                                                                          (1) 

a) sea b) made 

5) Name the first lighthouse.                      

                                                                                          (1) 

6) Complete the following sentence.          

 (1) 

a) The United States is home to______________. 

7) Describe in brief about the oldest existing lighthouse.                          

                                                                                          (2)  

8) Why the number of operational lighthouses has declined ?  

                                                                                           (2)  

    

Q.II (B) Read the following passage carefully and answer the questions 

given below:          (10)      

               Once, a king’s army was going back after a battle. Their food 

supplies got finished. The king asked his soldiers to go to a nearby village and 



get the grains. Some soldiers and their commander entered the village and met 

a farmer. The commander asked him, “Dear farmer can you lead us to this 

village’s largest field?”  

 The farmer took them to a large field. The commander ordered his soldiers, 
“Cut and collect all the grains.” At this, the farmer got scared. He said “Sir, come 

and I will show you another field .” The soldiers went with him to a small field. 
They collected the grains from that field.  
 The commander asked the farmer why he led them to this field. The farmer 

replied, “That field belongs to someone else. How could I let you destroy it? This 
is my field and here I can allow you to do, what I wish.”  

 The king learnt of the farmer’s kind concern for others and paid 
him handsomely for his grains. 
 

Questions: 

1) What did the king ask his soldiers to do?                                                                                                                                                                               

(1) 

2) Whom did the soldiers and the commander meet?                            (1)                                        

3) Underline the pronouns.                                                                                          

(1) 

         i) He took them to a large field. 

4) What did the commander order his soldiers ?       

(1) 

5) Write the abstract noun form of the word given:                   

(1) 

i) destroy. 

6) Who said to whom?                              (1) 

i) "Dear farmer, can you lead us to this village's largest field?" 

7) What did the king learn about the farmer and how did he pay the 

farmer?                                                                                                 (2) 

8) Use the following words in your own sentences.                                    (2)                                               

i) scared  ii) kind 

 
Q. III (A) Do as directed:         

    (10) 
 

         1) ____________ aeroplane flies in ____________ sky.(Use articles) 
         2) They __________ (play) hockey. (write the present progressive form of 

the verb given  

             in bracket) 

         3) The woman gave sweets to the children but ____________ did not thank  

             _________.(Fill in the blanks with suitable pronouns) 

    4) The train does not stop here. (Underline the adverb and state its kind) 



         

         5) He ____________(write) a letter to me. (Write the simple past tense form 

of the verb  

             given in bracket) 

        6) Sam ____________ (bring) the books tomorrow.(Write the simple future 

tense  form  

             of the verb given in bracket) 

         7) The lion killed the daughter of the farmer.(Rewrite the sentence 

changing the  

             gender of the words underlined) 

         8) Take care _________ your health. (Fill in the blanks with suitable 

preposition) 

     9) Birds can fly ___________ animals cannot. (Use a suitable conjunction) 

    10) The cow eats grass. (Underline the verb and if the verb is followed by 

an object, put  

          a  circle around the object) 
  

Q. III(B) Identify the figures of speech in the following sentences:             

(5) 

             1. He swims as fast as a fish. 

             2. Shocked, I was. 

             3. Many are called, but few are chosen. 

             4. The fire swallowed the entire forest. 

             5. The bag weighed a ton. 

Q. IV (A) Read the extract of the poem and answer the questions given 

below:                                                                                                     (5) 

 Strawberries that in gardens grow  
  Are plump and juicy fine, 

 But sweeter far as wise men know 
  Spring from the woodland vine. 

 
 No need for bowl or  silver spoon,  
  Sugar or spice or cream, 

 Has the wild berry plucked in June 
  Beside the trickling stream.  
 

 

Questions: 

  1) List two pairs of rhyming words from the poem     

      (1) 

  2) Find a word from the extract which means:      

      (1) 

  i) a creeping plant that grows up or over things. 



  3) Which are the two different places where strawberries grow?   

      (1) 

    4) Which strawberries are sweeter?       

      (1) 

    5) Write the abstract noun forms of the given words     

      (1) 

i) wise   
 

Q. IV (B) Read the extract of the poem and answer the questions given 

below:                                                                                              (5) 

 Lark – bird, lark – bird, soaring high,  
  Are you never weary?  
 When you reach the empty sky  

  Are the clouds not dreary ? 
 Don’t you sometimes long to be  

  A silent goldfish in the sea? 
 
 

 Goldfish, goldfish, diving deep,  

  Are you never sad, say? 
 When you feel the cold waves creep  
  Are you really glad, say? 

 Don’t you sometimes long to sing  
  And be a lark – bird on the wing? 
  

 
 

Questions: 
 

1) Identify the figure of speech.                                                                 (1)                                                          
i) Are the clouds not dreary?  

     
2) Write what the goldfish does.                                                       (1)   

                                                                     

3) Write two adjectives from the poem.                                                      (1) 
 

4) Write the antonym of :         

      (1) 
i) deep 

 
5) Match the Column:                                                                                 (1)                                                            
             A                          B 

      i) weary                   a) in flight 
     ii) dreary                   b) very tired 

              c) dull and boring 
 
 



Writing skills. 
 

Q.V (A) Expansion of idea(Any one).            
   (4) 

 i) Where there is a will there is way. 
 ii) Knowledge is power 
 iii) All that glitters is not gold. 

 
      (B) Your Uncle has sent you a present on your birthday. Write a letter 
thanking  

           him and telling him how the gift is special or unique.                                 
(4) 

       Or 
 Write a letter to the Municipal Commissioner of your locality 
complaining about  

         bad conditions of road in your area. 
 

                     (C) Write a report on Plantation Drive conducted in your school.       (4)              
 Or 

          Write a report on your visit to Nehru Science Centre.  

 
      (D) Write a story based on the following outline. Give your story a 
suitable title and moral                                             (3)                             

A farmer – has five sons – quarrel among themselves – father wants to 
teach – a lesson – asks his sons – break the bundle of sticks – not able – break 

the bundle – father tells – untie the bundle – asks to break the sticks 
individually – the sons break the sticks – learn a lesson.   

 

 
  
  

All the best 
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QIA)   Fill in the blanks:            (6) 

    1)   ___________ have their own light. 

    2)   Kangaroos are found only in _________. 

    3)   Squirrels store _____________. 

    4)   The lower end of the alimentary canal is the ___________. 

    5)   Energy in the form of motion is called ________ energy. 

    6)  Soon after a baby is born, she is given the _________ vaccine.  

 

QIB)    Match the column:            (3) 

                        A                                                               B 

      1)  Asteroids    a) icebergs   
      2)  Blocks of floating ice                    b) preservative  
      3)  Mot      c) mars and jupiter  
      4)  Vinegar     d) mosquito bite  
      5)  Malaria     e) legal offence  
      6) Spitting      f) oxen  
 

QIC)   Write whether True or False. Correct the false statements:     (5) 

     1)  Intestinal diseases spread through air.   

     2) We can see rocks split apart by the tree roots. 

     3)  Foodstuffs get warmth when put in a fridge.  

     4)  Our height increases from birth till we are about 18 years old. 

     5) We cannot live a wholesome life if we take care of our health.  

 

 



QIIA) Classify the following into solid, liquid and gas:        (3) 

      (wood, nitrogen, petrol, rangoli, smoke, milk) 

Solid  Liquid Gas 

   

  

   B) Name the following :                     (6)  

    1) Any two types of irrigation  

    2) Any two digestive glands  

    3) Any two sources of water  

 

QIIC) Answer in one sentence:  (any 5)                                                (5) 

       1) What is meant by circulation of blood? 

       2)  What is meant by physical growth? 

       3)  What is an infectious disease? 

       4)  What is meant by energy? 

       5)  What is a gland? 

       6)  Why is spitting in a public place banned? 

QIIIA)   Answer in Brief: (any 3)                                                                 (6) 

        1)  Distinguish between small intestine and large intestine. 

        2)  How does our personality grow? 

        3)  What care is taken in case of tuberculosis? 



        4)  What is to be done to stay away from addictions? 

QIIIB)   Give reasons for the following: (any 2)                                      (4) 

       1)  The mouth and nose is to be covered while coughing or sneezing.  

       2)  Pollution and epidemic of infectious diseases are threats to community  

             health. 

       3)  We should not allow puddles of water to stand in our surroundings.  

QIII C) Define (any 2)            (2) 

       1)  Digestive juice  

       2)  Vaccination  

       3)  Heredity  

QIVA) Use your brain power and write the answer:      (2) 

        1)  Why do we sometimes choke suddenly while eating? 

QIVB) Draw neat and labelled diagrams:           (6) 

       i)  Digestive system  

      ii)  Three states of water    

 

 

ALL THE BEST 

 

 

 

 

 



Bkdqj fon;k eafnj gk;Ldwy ,.M T;qfu;j dkWyst 

Rk`rh;  l= ijh{kk & 2015-16 

fo’k; & fgUnh                                                                vad &    80 

fnukad % 09 -04-2016         d{kk  & ik¡poh       le; % 2 ?kaVs 45 feuV 

¼ dgkuh ij vk/kkfjr ½ 

Izk- 1 ifBr xn~;ka”k ds vk/kkj ij uhps fn, x, iz”uksa ds mRrj fyf[k,  %   

     6 

lMd dk vkjafHkd Lo:Ik dPpk FkkA mlij cSyxkMh] rk¡xk] Å¡VxkMh tSls okgu 

pyrs Fks fQj dksyrkj Mkydj iDdh lMdsa cuus yxhaA vktdy ubZ rduhd vk xbZ gSA 

bl rduhd esa eq>s lhesaV ls cukus yxs gSA viuk ;g u;k :Ik cgqr vPNk yxrk gSA 

nq[k ml le; gksrk gS tc yksx xank dj nsrs gSA  

Izk I fuEufyf[kr iz”uksa ds mRrj ,d & ,d iw.kZ okD; esa fyf[k, A 

    v½ lMd ij dkSu & dkSu ls okgu pyrs Fks \      

     1 

    c½ lMd dks nq[k dc gksrk gS \                  

1 

Izk II- fjDr LFkkuksa dh iwfrZ dhft, % 

    v½ vktdy ubZ        vk xbZ gSA        

     1 

    c½ lMd dk vkjafHkd Lo:Ik          Fkk A      

     1 

Izk III- v½ viuk ;g u;k :Ik cgqr vPNk yxrk gSA      

     1 
  ¼okD; es vk, loZuke js[kakfdr dhft,½ 

 

      c½ mlij cSyxkMh] rk¡xk] Å¡VxkMh tSls okgu pyrs FksA              

1 

 ¼okD; es vk, laKk js[kakfdr dhft,½ 

 



Izk- 2 ifBr xn~;ka”k ds vk/kkj ij uhps fn, x, iz”uksa ds mRrj fyf[k,  %   

     6 

 Lkeqnz ds ry esa Hkwdai vkus ij Å¡ph & Å¡ph ygjsa mRiUu gksrh gSA ;gh Rlqukeh gSA 

Rlqukeh dh lwpuk feyrs gh rVorhZ izns”k esa jgus okys yksxksa dks rqjar gh lqjf{kr LFkkuksa 

ij pys tkuk pkfg,A gesa leqnz rV dks ikVdj cfLr;k¡ ugha cukuh pkfg,A Rlqukeh dh 

iwoZ lwpuk nsus okys ;a= vktdy fodflr gks jgs gSaA 

Izk I fuEufyf[kr iz”uksa ds mRrj ,d & ,d iw.kZ okD; esa fyf[k, A 

    v½ Rlqukeh fdls dgrs gS \   

     1 

    c½ leqnz rV dks ikVdj D;k ugha cukuh pkfg, \      

     1 

Izk II lekukFkhZ “kCn fyf[k,A                 

     2 

       1½ leqnz         2½ lwpuk  
 

Izk III fo:n~/kkFkhZ “kCn fyf[k,A                       

2 

       1½ fodflr      2½ Å¡ph  
 

 

iz- 3-v] fuEufyf[kr iz”uksa ds mRrj ,d & ,d iw.kZ okD; esa fyf[k, A   

     4 

       1½ vukZYM ds ?kj esa dkSu & dkSu jgrs gSa \ 

       2½ NksVk HkkbZ cMs HkkbZ dh enn D;ksa djuk pkgrk Fkk \ 

       3½ lIrkg ds fnuksa ds uke de ls fy[kksA 

       4½ cPpksa dks canj dkSu ekurk gS \ 
 

     Ck] fjDr LFkkuksa dh iwfrZ dhft, %        

     4 

           1½ fdlh unh ds fdukjs ,d        iMk FkkA 

           2½ tks ftruh vf/kd Hkk’kk,¡ lh[krk gS] mldk        mruk gh c<rk gSA  

           3½ o’kZ us dgk] Þ igys eSa        yw¡xkA ß 



          4½ vpkud nksuksa HkkbZ ,d & nwljs ls      x,A    
        
    l] fuEufyf[kr esa ls mfpr fodYi pqudj okD; iw.kZ dhft, A            

     4 

     1½ caMwHkkÅ ds vuqlkj [kr  --------------------------  

      d] i= & isVh esa Mkyrs gSaA 

      [k] [ksr esa Mkyrs gSaA 

      Xk] dpjk & isVh esa Mkyrs gSaA 
     

     2½ cPpksa us Nqd & Nqd xkMh dk [ksy [ksyk] D;ksafd --------------------------  

      d] ;g muds fy, u;k FkkA 

      [k] ;g lcdks ilan FkkA 

      Xk] ikB”kkyk esa NqV~Vh FkhA 
 

     3½ cMk HkkbZ vdsyk ugha Fkk D;ksafd --------------------------  

      d] mlds nks ukSdj FksA 

      [k] mlds yMdh Hkh FkhA 

      Xk] mlds nks cPps FksA 

 

        4½ fogax ds firk th --------------------------  

      d] vPNh cgl djrs gSA 

      [k] etsnkj pqVdqys lqukrs gSaA 

      Xk] U;k;ky; ds fdLls lqukrs gSaA 
 

    n] lgh fo/kku ds lkeus      dk vkSj xyr fo/kku ds lkeus     dk fpg~u yxkvksA  

2                                 

      v½ Hkwdai dk dkj.k vf/kd ckfj”k gSA  

      c½ lMd yksxksa esa esy & tksy c<kuk pkgrh gSA 

 

        ¼dfork ij vk/kkfjr ½ 

Izk 4- ifBr dfork ds vk/kkj ij iz”uksa ds mRrj ,d okD; esa fyf[k, A    

 6 

              Eksjh lw[kh iRrh Mkyks] 

√ X 



              Åuh diMs] vukt cPkk yksA 

              Lkq[kh iRrh ds /kq,¡ ls] 

              eD[kh&ePNj nwj Hkxk yksA 

                    ?kuh ifRr;ksa ds dkj.k] 

                    “khry gS esjh Nk;kA 

                    Xkjeh vkSj Fkdku feVh] 

                    Tkks esjs uhps vk;kA   

 

 
 

Izk I fuEufyf[kr iz”uksa ds mRrj ,d & ,d iw.kZ okD; esa fyf[k, A 

    v½ uhe dh lw[kh iRrh ls D;k cpk ldrs gS \             1 

    c½ uhe ds isM dh Nk;k “khry D;ksa gksrh gS \             1 
 
 

Izk II- fjDr LFkkuksa dh iwfrZ dhft, % 

     v½ Lkq[kh iRrh ds /kq,¡ ls]         nwj Hkxk yksA                  1 

     c½          vkSj Fkdku feVh] Tkks esjs uhps vk;kA                 1 

Izk III fo:n~/kkFkhZ “kCn fyf[k,A             2 

     1½ xjeh       2½ nwj   
 
 

iz- 5- v] fuEufyf[kr iz”uksa ds mRrj ,d & ,d iw.kZ okD; esa fyf[k, A          4 
 

          1½ uhe ds isM dks D;ksa ugha dkVuk pkfg, \ 

          2½ gekjh cksyh dSlh gksuh pkfg, \ 

          3½ uhe vius vki dks D;k&D;k ugh ekurk \ 

  4½  gesa fdlds leku vkxs c<uk gS \ 

 

 Ck] fjDr LFkkuksa dh iwfrZ dhft, %              4 

          1½ eSa rks dsoy ,d isM g¡w] uke gS esjk       A 

      2½ thou gS        dk ukeA 

          3½ lcdks         ls djks iz.kkeA 

          4½         tSlk lcdks tkuksA 

    l] fuEufyf[kr esa ls mfpr fodYi pqudj okD; iw.kZ dhft, A        2 

     1½ gesa lwjt ds leku --------------------------  

      d] Åij mBuk gSA 



      [k] eqLdjkuk gSA 

      Xk] txexkuk gSA 
     

     2½ gesa dHkh  --------------------------  

      d] vH;kl ughsa djuk gSA 

      [k] lg;ksx ughas djuk gSA 

      Xk] foJke ughsa djuk gSA 
 

  n] lgh fo/kku ds lkeus      dk vkSj xyr fo/kku ds lkeus     dk fpg~u yxkvksA2      

      v½ uhe ,d fu:Ik;ksxh isM gSA  

      c½ tks pyrk gS og vkxs c<rk gSA 

     

        ¼O;kdj.k ij vk/kkfjr½ 

iz- 6-v] lekukFkhZ “kCn fyf[k,A ¼dksbZ nks½            2 

       1½ vpkud         2½ lwjt       3½ Mky      
 

     c] fo:n~/kkFkhZ “kCn fyf[k,A ¼dksbZ nks½        2 

       1½ “kq:            2½ /kjrh      3½ rqjar  

     

    

     l] fyax cnfy, A ¼dksbZ nks½         2 

       1½ cw<k            2½ oj     3½ Xokfyu 

 
 

 

 

 
 

     n] opu cnfy, A ¼dksbZ nks½              2 

       1½ dFkk,¡           2½ eksj       3½ pIiy      
 

    y] js[kkafdr laKkvks ds Hksn fyf[k,A ¼dksbZ nks½              2 

       1½ lrh”k gokbZ vM~Ms ij mrjkA 

       2½ nw/k vkSj ?kh LokLF; ds fy, ykHknk;d gSA 

       3½ phfV;k¡ ifjokj esa jgrh gS A 
 

    d] js[kkafdr loZuke ds Hksn fyf[k,A ¼dksbZ nks½            2 

       1½ esjh ek¡ viuk dke Lo;a djrh gSA 

       2½ dkSu  vk;k gS \ 

       3½ tSlh djuh] oSlh HkjuhA 
     

√ X 



   [k] js[kkafdr fo”ks’k.k ds Hksn fyf[k,A ¼dksbZ nks½            2 

       1½ lky es ckgj eghus gksrs gSA 

       2½ og  f[kykSuk fdldk gS \ 

       3½ eq>s FkksMk ikuh fiyk nksA 
        

   x] fd;k js[kkafdr dhft,A ¼dksbZ nks½            2 

 1½ ?kksMk nkSMrk gSA 

       2½ vkyksd ckx esa Vgyus x;kA 

       3½ yksx vius ?kj fofo/k :iksa ls ltkrs gSaA 
   

   ?k] dky igpkfu,A ¼dksbZ nks½         2 

       1½ eSus i= fy[kk gSA 

       2½ vkt cPps xsan ugha [ksysaxsA 

       3½ ek¡ us vkt cgqr lkjh jksfV;k¡ cukbZ FkhA 
 

 

iz- 7- vius iz/kkuk/;kfidk dks laxhr izfr;ksfxrk esa Hkkx ysus gsrq vkosnu i= fyf[k,A 5 

                        vFkok  

      lkr fnuksa dh NqV~Vh ek¡xrs gq, oxkZ/;kid dks vkosnu i= fyf[k,A 

 

iz- 8-  vifBr xn~;[ka.M ds vk/kkj ij fn, x, iz”uksa ds mRrj fyf[k,A          5  

       iafMr tokgjyky usg: dk tUe 14 uoEcj 1    9 dks bykgkckn es gqvk FkkA 

muds firk dk uke iafMr eksrhyky usg: vkSj ekrk dk uke Lo:ijkuh FkkA budh iRuh 

dk uke deyk usg: FkkA csVh bafnjk Fkh tks Hkkjr dh izFke efgyk iz/kku ea=h cuhaA  

       tokgjyky usg: dh f“k{kk baXyS.M esa gqbZA os ogk¡ ls cSfjLVj cudj Hkkjr vk,A 

mUgs foKku vkSj lkfgR; esa fo”ks’k :fp FkhA 

       Lons”k ykSVus ij os xka/kh th ds lEidZ esa vk, vkSj ns”k lsok esa yx x,A os 

jk’Vfirk egkRek xka/kh ds lPps vuq;k;h FksA ns”k vktkn gksus ij os ns”k ds igys iz/kku 

ea=h pqus x,A mUgksaus nqfu;k dks “kkafr dk lans”k fn;k mUgs “kkafrnwr dgrs gSA mudk 

tUefnu ckyfnol ds :Ik esa euk;k tkrk gSA   
 

         iz”u  

       1½ iafMr tokgjyky usg: dk tUe dc vkSj dgk¡ gqvk Fkk \ 

       2½ iafMr tokgjyky usg: ds tUefnu dks fdl :Ik esa eukrs gSa \ 

       3½ iafMr usg: fdlds vuq;k;h Fks \ 

       4½ iafMr usg: dks “kkafrnwr D;ksa dgrs gS \ 

       5½ iafMr usg: ds firk dk uke D;k Fkk \ 

 
 



iz- 9- fuEufyf[kr fo’k;ksa esa ls fdlh ,d fo’k; ij vkB & nl iafDr;kass esa fuca/k fyf[k,A 

                        8 

     1½ gksyh   

     2½ vkn”kZ fon~;kFkhZ    

     3½ xk;    

“kqHkdkeuk,¡ 
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QI A. Fill in the blanks :         (5) 

1) _______ was enriched with the exchange of thoughts and 

ideas.  

2) The village settlement was like ________. 

3) The ________ Age was the age of many inventions and rapid 

changes.  

4) The Neanderthals used ________ to erect tents inside the 

cave for warmth.  

5) _________ is the only planet where life is known to exist. 

      B. Match the pairs :         (3)  

  A       B 

 1) Mesopotamia   i) source of livelihood in the New  

Stone Age 

 2) Gold     ii) Copper Age  

 3) Agriculture    iii) soft metal  

      iv) the land between two rivers 

     C. Arrange the following in chronological order :  (2) 

 1) i) Copper Age  ii) Iron Age  iii) Stone Age    

 2) i) Water bodies appeared on the earth’s surface. 

    ii) The sun and the planets revolving around it were created. 

    iii) Protozoa appeared in water. 



    iv) An enormous cloud of hot gases and dust formed in 

space. 

    D. State whether the following statements are true or false :                  

(5)  

 1) The period when copper came in use is known as the Iron 

Age. 

 2) Harappan civilization developed in the Indus valley. 

 3) The Homo sapiens cleared jungles by felling trees. 

 4) The houses at the beginning of the New Stone Age were 

made of  

            bricks.  

 5) The early civilizations came into existence around 2000 B C. 

QII A. Answer in one sentence each :     (7) 

1) Why are the early civilizations known as ‘Riverine 

Civilizations’ ? 

2) What are the factors that brought together people engaged 

in different types of work ? 

3) Which were the animals hunted by the Homo sapiens ? 

4) In which way of life was man required to keep moving all 

the time ? 

5) What is animal husbandry ? 

6) Why were the protective walls built around the village ? 

7) Why did the village community make rules for mutual co-

operation ? 

 

 

      B. Give reasons :         (4) 

 1) People in the New Stone Age established their village 

settlements on the banks of various rivers.      



  2) The wheeled vehicles like carts and chariots were brought 

into use.  

QIII Answer in brief :         (6) 

1) Describe the ‘Three Age System’. 

2) Write the characteristics of the Harappan earthen pots. 

3) Write a short note on ‘Use of metals’. 

 

All the best 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Bkdqj fon;k eafnj gk;Ldwy vW.M T;qfu;j dkWyst 

Rk`rh; l= ijh{kk & 2015-16 

fo’k; & ejkBh                                                              xq.k & 80 

fnukad % 08 -06 - 2016        b;Rrk & ikpoh          osG & 2 rkl 45 fe- 

iz- 1yk- v½ [kkyhy mrkjk okpwu iz”ukaph mRrjs fygk 

  fOkB~By jketh mQ v..kklkgsc f“kans ;kapk tUe te[kaMh xkoh >kyk- 

v..kklkgsckaP;k ofMyakps uko jketh vkf.k vkbZps uko ;equkckbZ gksrs- ygkuX;k fOkB~Byyk 

[ksGkph vR;ar vkoM gksrh- gqrqrw] [kks & [kks] lqjikjaC;k ;klkj[ks [ksG [ksG.;kr ygkuXkk 

foB~By lnSo iq<s vls- ygkui.khP;k ;k [ksGkae/;s fOkB~Bypk /khVi.kk o lgu”khyrk fnlwu 

;sbZ- R;kps oMhy /kkfeZd o`Rrhps gksrs- R;akP;k /kkfeZd o`Rrhpk fOkB~Byojgh ifj.kke >kyk 

gksrk- loZ tkfr/kekZaps ykssda R;kaP;k ?kjh ;sr vlr- ek.klkek.klakr Hksn dj.ks ;ksX; ukgh] 

;kpk laLdkj ?kjkrhy okrkoj.kkeqGs ygkuX;k fOkB~ByP;k eukoj meVyk-     

   iz”u %  

   [kkyhy iz”ukaph mRrjs fygk-         

  

   1½ foB~Bypk tUe dksBs >kyk \       1 

   2½ foB~ByP;k vkbZofMykaps uko dk; gksrs \      1 

   3½ foB~Byyk d”kkph vkoM gksrh \       1  

   4½ ygkui.kh foB~By dks.krs [ksG [ksGr vls \     1 

   5½ [ksGkae/kwu foB~ByP;k vaxh vlysys dks.krs xq.k fnlwu ;srkr \   1 

   6½ foB~Byps oMhy dks.kR;k o`Rrhps gksrs \      1 

   7½ foB~ByP;k eukoj dks.krk laLdkj meVyk gksrk \    1 

 

 

 

 vk½ [kkyhy laokn okpwu iz”ukaph mRrjs fygk - 

 Qqyik[k: %& e/k xksGk djk;pa dke dq.kh fnya rqyk\ 

      e/kw       %& vkeP;k jk.khek”khua fnya- 

      Qqyik[k: %& vax] rjhi.k rqyk FkksMk osG ?kkyok;yk dk; gjdr vkgs\  

      e/kw       %& rq>a eu eksMk;yk okbZV okVra eyk] i.k dj.kkj dk;\ dke rj 

dq.kkyk pqdysya  

                  ukgh ckck!  

      Qqyik[k: %& dk; xa] ,o<k e/k xksGk d:u rqyk dk; feG.kkj\ “ksoVh rh 

ek.klkaphp /ku uk! 



      e/kw       %& vla dla \ vkaEgkaykgh e/k ykxrksp uk! Ek/k fdrh vkS’k/kh vkgs vkf.k 

fdrh  

                  mi;ksxh iMrks rs rqyk ekghr vkgs-            

      Qqyik[k: %& gks- e/kkr vkS’k/kh xq.k vlrkr] gs [kja vkgs dk xa \ 

      e/kw       %& vjs] e/k gk vkS’k/khp vkgs-  

      Qqyik[k: %& e/k eyk [kwi vkoMrks ( i.k ek÷;k”kh xIik ekjk;yk rqyk osG ukgh] 

gs ek= 

                   eyk fcydqy vkoMr ukgh-  

      e/kw       %& dkekr eXu jkg.ka] ;kr lqn~/kk vkuan vlrks- rq>pa c?k uk! 

rq÷;klkj[;k Lkqanj  

                   Qqyik[kjkyk c?kwu fdrh vkuan gksrks! brjkaP;k  MksG;kauk rw lq[k 

nsrksl- gs gh rw 

                    djr vlysya dkeap vkgs dh!       

   iz”u %  

v½ [kkyhy iz”ukaph mRrjs fygk-        4 

   1½ e/kkr dks.krs xq.k vlrkr \ 

   2½ e/kwP;k ers vkuan d”kkr vkgs \ 

   3½ jk.khek”khus e/kwyk dks.krs dke fnys vkgs \ 

   4½ vkiY;k MksG;kauk lq[k dks.k nsra \ 
 

 

c½  dks.k dks.kkl Eg.kkys -         2 

  1½ Þdke rj dq.kkyk pqdysya ukgh ckck!Þ 

  2½ Þ“ksoVh rh ek.klkaphp /ku uk!-Þ 

 

 

b½ [kkyhy mrkjk okpwu iz”ukaph mRrjs fygk       

  

 *rhu & pkj fnol xsys- ey..kk ekyrhyk Eg.kkyk] Þvki.k rkyqD;kyk tkÅ- frFks 

xqjkapk cktkj Hkjrks- frFkwu ,d cSy [kjsnh d:-Þ ekyrh Eg.kkyh] Þ [kja vkgs rqepa- ,dk 

cSykoj ukaxj.kh d”kh     djk;ph \Þ  

 nks?ks rkyqD;kyk vkys- xqjkapk eksBk cktkj Hkjyk gksrk- cktkjkr tukojkaph [kjsnh & 

fodh lq: gksrh-  

  

 



iz”u %   

v½ dks.k dks.kkl Eg.kkys-         2 

   1½  Þ frFks xqjkapk cktkj Hkjrks- Þ 

   2½  Þ ,dk cSykoj ukaxj.kh d”kh djk;ph \Þ  

 

c½ fjdkE;k tkxk Hkjk-         3 

  1) nks?ks             vkys-   

  2½ cktkjkr tukojkaph                  lq: gksrh-  

  3) xqjkapk eksBk         Hkjyk gksrk- 

 

bZ½ [kkyhy mrkjk okpwu iz”ukaph mRrjs fygk 

 iksiV] dksdhG] fpe.;k] dkoGs] lkGqaD;k vls fdrhrjh i{kh >kMkoj clys gksrs- 

R;kapk fdyfcykV pkyyk gksrk- i{kh vkuankus mMr gksrs- vkEghgh vkuankus ckxMr gksrks- 

vkEgh yikNih] f“ko.kkik.kh] Åulkoyh vls [ksG [ksGyks- ok ;kus iMysY;k  dS ;k xksGk 

dsY;k- lxG;k dS ;kapk pV~VkeV~Vk dsyk- vkEgh lgHkkstu dsys-        

   iz”u %  

 

v½ fjdkE;k tkxk Hkjk-         2 

  1½ R;kapk        pkyyk gksrk -  

  2½ lxG;k dS ;kapk         dsyk – 

 

c½ [kkyhy iz”uakph mRrjs fygk-  

  1½ eqys dks.krs [ksG [ksGys \        1 

  2½ eqykauh dk; xksGk dsys \        1 

   2½ >kMkaoj dks.kdks.krs i{kh clys gksrs \      1 

m½ [kkyhy laokn okpwu iz”ukaph mRrjs fygk 

 fnuw    %& vkbZlkBh pgk djrks;s- rqÖ;klkBhgh d: dk \ 

Qkfrek %& udks eh pgk ?ksr ukgh- dk; js! ,d di pgk dj.;klkBh  ,o<a eksBa 

ikrsya \ 



fnuw    %& dk; fc?kMya \ 

Qkfrek %& vjs NksVa ikrsy ?ksrya vlral] rj ik.kh yodj mdGya vlra- 

fnuw    %& gs ekÖ;k y{kkrp vkya ukgh-  

Qkfrek %& vjs] NksV;k ikrsY;keqGas pgk yodj >kyk vlrk vkf.k gks! ba/kukph 

Eg.kts  

              xWlphgh cpr >kyh vlrh- letya \ 

fnuw    %& letya- letya vkf.k y{kkrgh vkya- 

 iz”u %  

v½ [kkyhy iz”ukaph mRrjs fygk-  

  1½ fnuwyk d”kkps egRRo iVys \       1 

  2½ fnuwus NksVa ikrsy ?ksrya vlra rj dk; >kys vlrs \    1 

 

c½  tksM;k ykok-           3 

       v xV             c xV 

   1½ ba/ku     1½ ikrsy 

   2½ NksVa           2½ pgk  

   3½ vkbZlkBh     3½ cpr  

 

Izk- 2 jk v½ [kkyhy dfork okpwu iz”ukaph mRrjs fygk-      

  

        jax <xkaoj ekoGrhpk]  

   yky fioGlj fdrh etspk]  

   >qG>qG okjk unhdkBpk]  

Ckktql MksaxjeGk- 
 

   d: pyk lqjokr cjkscj]  

        lksMk lksMk jhG HkjkHkj]   

   irax p<ok gs ok ;koj] 

   <xkal HksVk;yk-  
    

   emem okGwr ik; jksowuh] 

             nsÅ >Vdk nksjk vks<qfu] 

             irax tkfry oj oj p<quh] 

             ia[k udks R;ktyk  
 

 

 

 

 

 

 

 

 

 



iz”u %  

v½ [kkyhy iz”ukaph mRrjs fygk-         

  

1½ lw;Z ekoGrkuk <xkaoj dks.krk jax fnlrks \     1 

2½ >qG>qG okjk dksBs okgrks \        1 

3½ irax dks.kkl HksVk;yk tkrkr \       1 

4½ okGw d”kh vkgs \         1  

5½ iraxkyk vkdk”kkr tk.;klkBh d”kkph xjt Hkklr ukgh \   1 

 

c½ dforsP;k vksGh iw.kZ djk-          1 

 

        d:  ---------------------------------  

       ----------------------- HkjkHkj  

 

  vk½ [kkyhy dfork okpwu iz”ukaph mRrjs fygk-        
 

      eksdG;k vkHkkGh tkÅ] 

   eksdG;k xG;kus xkÅ] 

      fueZG eukus] vkuanHkjkus]  

   vkuan nsÅ vu~ ?ksÅ-  

      izsekus ,d= jkgw]  

   uohu thou ikgw]  

      vusd ns”kkaps] Hkk’kkaps] os”kkaps  

   vusd ,dp gksÅ- 

     & olar ckiV  

        

    iz”u %  

  v½ [kkyhy iz”ukaph mRrjs fygk-        5 

  1½ cgh.kHkkÅ d”kkizdkjs vkuan nsrhy vu~ ?ksrhy \ 

  2½ cgh.kHkkÅ dls xk.kkj vkgsr \ 

  3½ cgh.kHkkÅ dls ,d= jkgrhy \ 

  4½ cgh.kHkkÅ dksBs tk.kkj vkgsr \ 

  5½ ojhy dforsps doh dks.k vkgsr \ 

 



c½ dforsP;k vksGh iw.kZ djk-          1 

 

    vusd  ---------------------------------  

       ----------------------- gksÅ  

Izk 3 jk v½ [kkyhy “kCnkauk lekukFkhZ “kCn fygk- ¼dks.krsgh pkj½   4 

        1½ eÅ &  2½ dk;Z &   3½ loM &  

        4½ i= &   5½ izse &   6½ Fkd.ks & 

      c½ [kkyhy “kCnkauk fo:n~/kkFkhZ “kCn fygk- ¼ dks.krsgh pkj ½   4 

        1½ Hksn x  2½ xq.k  x   3½ nq’dkG x 

           4½ ekoG.ks x 5½ thou  x   6½ ean x 

     M½ [kkyhy “kCnkaph fyaxs cnyk- ¼ dks.krsgh nksu ½     2 

     1½ ekek &   2½ cSy &     3½ cdjk &  

     d½ [kkyhy “kCnkaph opus cnyk-  ¼ dks.krsgh nksu ½    2 

      1½ iku &   2½ “kkGk &  3½ gkr & 

iz- †Fkk v½ [kkyhy okD;krhy ukes vksG[kk-      2 

     1½ ek;kus ikfdV m?kMys-  

     2½ lqek ckxsr xsyh- 

    c) [kkyhy okD;krhy  loZukes vksG[kk-      2 

      1½ rqyk c?kwu eyk vkuan >kkyk-   

      2½ gs c?k rq> isu! 

    d) [kkyhy okD;krhy fo”ks’k.ks vksG[kk-     2 

      1½ Nku Nku tso.k >kys-  



      2½ gh fioGh Qqya c?k-  

    M) [kkyhy okD;krhy fd;kins vksG[kk-              2 

       1½ nkjkojph csy oktyh- 

       2½ latw yodj mByk-  

    b) [kkyhy okD;krhy fojkefpUgs ?kkywu okD; iwUgk fygk-         1 

       nkew iSls cjkscj vkgsr  

    bZ) [kkyhy okD; “kqn~/k djk-                        1 

       “khokuh ikpohr fldrs-  

 

iz- 5ok- rqeP;k ok<fnolkps vkea=.k ns.kkjs i= rqEgh rqeP;k fe=kyk @ eSf=.khyk fygk- 5 

        ¼ fyQkQk vko”;d ½ 

 

iz- 6ok- v½ [kkyhy iSdh dks.kR;kgh ,dk fo’k;koj fuca/k fygk      8 

   1½ ek>k vkoMrk usrk   2½ ek>h vkbZ  

   3½ ek>k vkoMrk izk.kh   4½ ek>s ?kj  

 

 

iz- 6ok- [kkyhy mrkjk okpwu iz”ukaph mRrjs fygk   

 Lklk ,d xksftjok.kk izk.kh vkgs- rks lqanj fnlrks- R;kps MksGs yky e.;klkj[ks 

pednkj vlrkr- R;kapk jax iak<jk”kqHkz vlrks- R;kps vax eÅ eÅ vlrss- rks dkilklkj[kk 

fnlrks- R;kyk nksu ykac dku vlrkr- llk rq:rq: /kkorks- rks vfr”k; fHk=k izk.kh vkgs- 

llk dks.kkykgh =kl nsr ukgh- eqykauk rks usgeh gokgoklk okVrks] Eg.kwu ygku eqykauk 

l”;kph xks’V [kwi vkoMrs-     

 

 



iz”u %  

          1½   l”;kps MksGs dls vlrkr \       1 

    2½ llk dlk fnlrks \        1 

    3½  l”;kps dku dls vlrkr \       1 

    4½ llk dlk izk.kh vkgs \        1 

    5½ l”;kps vax dls vlrs \        1 
 

gkfnZd “kqHksPNk 
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QI a) Define  :            (5) 

1) Perimeter 

2) Obtuse angle 

3) Chord of the circle  

4) Like fraction 

5) Pictoghaph 

      b) Solve the following : ( any 5)        (5) 

 1) An angle is less than 90° is called as ______. 

 2) Put the correct symbol. (< , = , > )  

  11 X 4   35 +10  

 3) Solve    3 1 

            5         5 

 4) Diameter is the ____ chord of the circle.  

 5)       5      25 

   6     

 6) Perimeter of the rectangle =  

  2  X  ________ + 2  X   ________ 

Q2 Solve the following (Any 7)  

 1) Subtract : 56 j  35 paise – 23 j 60 paise  

 2) Explain parallel lines with the help of diagrams.  

 3) Convert into like fraction :   1           2 

          4          3  



= 

+ 

 4) If the diameter of a circle is 18 cm, what will be its radius? 

     (Use formula)  

 5) Add: 43 kg  750 g + 27 650 g  

 6) Compare the fractions and  write the sign < or > between them.  

     a)  5  12  b)  4  4 

  7   7    13  11 

       7) Fill in the blanks :  

   a) The product of any number and zero is _________. 

   b) Multiplying any number by ______ gives the number itself. 

 8) Fill in the blanks with proper number: 

    a) (45 : 5) = ( 3  +      ) 

    b) (16 X 1) = (20 -      )  

Q3 Solve the following (Any 5)       (15) 

 1) Ravi took part in a 200 m race. He tripped and fell after running 180m  

            50 cm. How much distance did he have left to run ?  

 2) From equivalent fraction of the following fractions with numerator 20.  

  a)    5   b)   40 

         3                 30 

     

         1)    9         

       11        22              

         2)    5         2 

       8         8           

         3) Rs. 79.5 = _________ rupees _______ paise.       

        



1 

4 

 

, 

         4) __________ is neither a prime number nor a composite number.  

        

         5) 1 metre = ____________ centimetre.           

         6)  of 40 pens = _________ pens. 

 

Q II Solve the following (any 7)        (14) 

        1) Convert the following fractions in to like fractions.  

  5      4 

  6      5        

        2) Write the proper symbol < , > or = :        

             a)    2      10 

  11      11  

            b)    4       4 

          7      11   

        3) Draw and explain the perpendicular lines with the help of a diagram :  

  

        4) Measure the angles given below and write their measures : 

                

        5) Calculate the length of the radius of a circle with diameter 12 cm using 

formula. 
 
 6) Find the square number from the list given below :  

    5, 9, 12, 16, 50, 60, 64, 72, 80, 81, 90, 105.   

 

  7) Write the following numbers using decimal point :            

 i) Nine point zero eight  

           ii) Two hundred sixty seven and five three  

   8) Draw and explain acute angle. 

        



95 7 

E

S 

G 

F 

H 

and 

Q3 Solve the following  :  (any five)       (15) 

       1) Write the following fractions and mixed fractions in decimal form :         

             a)    47         b)         5      c)     1 

  100                 100               10 

       2) The time below is given by 12 hour clock write the same time by 24 

hour clock : 

   i) 40 minutes past 11 in the morning  

  ii) 3’ o clock in the afternoon  

          iii) 20 minutes past 7 in the evening        

         

       3) Draw the angles of following measures and label them :  

         a)  60°          b)100°              

       4) Compare the following fractions :  

        2    7 

   3    8 

      5) Observe the given figure and write the names of arcs that are made by 
points E, F, G    and H. 

 

 

  

 

      

6) Draw the clock to show the time : 

 i) 30 minutes past 4.  

 ii) Quarter past 7.         

 

          

 

             



1 

5 

2 

7 

1 

2 

Q 4 Solve the following : ( any 4)         (16) 

       1) Convert the following in to decimal fraction and add them :    

     i) ‘Forty six and half metres’ and ‘three and quarter metre’. 

  ii) ‘Five and three quarter rupees’ and ‘seven and quarter rupees’.  

       2) a) What is       of 20 rupees? 

          

b) Add            + 

 

       3) i) Complete the following table by filling in the blanks  :       

            
 

Radius  

      

4cm 

      

7cm 

 

 

Diameter  

  

12cm 

  

32cm 

 

           ii) Write the factors of the following numbers : 

  a)  14     b)  33     
 
      

      4)  i)  Add          : 209.37 +  32.8  
           ii) Subtract   : 39.08   -  2.60 
        

       5) a) Write two numbers which are multiple of 2 as well as 5. 

           b) Write the test of divisibility by 5. 

Q5 Solve the following : (any 5)         (25) 

       1) a)Classify the prime and composite number from the list given below :  

      22, 34, 57, 89, 59, 79. 

          b) Write how many rupees in decimal from  
      i) seventy six rupees fifty paise  

     ii) fifteen rupees five paise               
 



      2)  a) I travelled for 5 hrs 20 min by train and 3 hrs 50 min by bus. What 

was the total time of my journey?              
 

           b) Add : 4 hrs 15 min  +   2 hrs 50 min      

        
       

4) a) Draw the correct number of dots for the next three triangular 
numbers and write the triangular number in the boxes. 

                

 
 

 
 
 

 
 
 

 
   b) Write the following decimal numbers in words :  

       i) 39.091  
 
       ii) 74.08  

  
       4) a) Write the place value of the digits of the decimal numbers in the place 

value  chart:            
  
      Number : 497.23  

 
 

Digit 

     

 

Place  

     

 

Place 

value  

     

 
 b) Subtract : 5 hrs  12 min – 2 hrs 36 min       
  

 
 

 

             ● 

       ●          ● 

     3 



 

 

. P 

. B 

. A 

       5)  Fill in the blanks :         
  

  
          i) 12 x 6    = _________    Vi) 12 x 2 = ___________ 

         ii)  9 x 9  = _________   Vii) 23 x 4 = ___________ 

        iii) 17 x 3   = _________   Viii) 22 x 5 = ___________ 

        iv) 14 x 8  = _________     ix) 13 x 9 = ___________ 

          v) 15 x 4  = _________      x) 8 x 7  = ___________ 

        

          6)  Answer the questions with the help of the given diagram.   

  

 a)   

                                                          i) In the interior of the circle. 

       ii) In the exterior of the circle. 

      iii) On the circle.  

 

 
              b)  Draw a circle of the radius 3 cm. (label its diameter and radius). 
   

 

 

 All the best  

 

. N 


